VCE & PDF https://www.passapply.com/1z0-462.html
2024 Latest passapply 120-462 PDF and VCE dumps Download

PassApply.com

170-46204A3

Oracle WebCenter Sites 11g Essentials

Pass Oracle 1Z20-462 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-462.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-462 PDF Dumps | 120-462 Practice Test | 1Z20-462 Exam Questions 1/3


https://www.passapply.com/1z0-462.html
https://www.passapply.com/1z0-462.html
https://www.passapply.com/1z0-462.html

VCE & PDF https://www.passapply.com/1z0-462.html
2024 Latest passapply 120-462 PDF and VCE dumps Download
PassApply.com

QUESTION 1
Which activity is NOT part of a WebCenter Sitessecurity audit?
A. reviewing passwords, by changing users with default passwords

B. hardening of servlets, by configuring web servers to allow access only to the parts of the servlet that you need
provide pages

C. reviewing page caching when it is operating as intended, by ensuring that content is flushed when assets are
published

D. hardening of non-delivery pages, by disabling outside access to all non-delivery pages such as support tools and Ul
pages

E. protection against remote calls, by configuring web server rules

Correct Answer: C

QUESTION 2

Which statement is trueaboutapproval dependencies?

A. Asset dependencies are stored in the AssetRelationTree table.

B. Asset dependencies and composition dependencies are calculated independently.
C. Collection and recommendation assets have a dependent query asset.

D. Basic assets have only one type asset dependency relationship.

Correct Answer: B

QUESTION 3

During a WebCenter Sites installation, the schema is not created and the following error appears in
thefuturetense.txtlogs:

What is the reason?
A. The database is down.
B. There is a mismatch between the database driver and the database server version.

C. The connection string used for the data source is incorrect.
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D. The database user privileges are inadequate.

Correct Answer: A

QUESTION 4

To reproduce an environment, which two backups are required at a minimum?
A. cold backup of the database schema

B. backup of the WebCenter Sites shared file system

C. backup of the WebCenter Sites web applications

D. backup of the Webserver configuration files

Correct Answer: AC

QUESTION 5

In the following calltemplate tag forassettype C, what does variant stand for?

A. different layout templates for the asset type C that can be used in this slot
B. different subtypes that can be handled by the template HelloDetail

C. different slots used for web mode and form mode for HelloSlot

D. custom template property that can be controlled from web mode

Correct Answer: B
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